Name:
—(Maih Buzz) “““ " g

Multiply. Fill in the missing numbers to complete each sentence.
=783X6
is 10 times as much as 0.906.
64.72
x 8 is - of 5814,

10

Find the product of m m
9 and 2.59.
o A o

& Preview

Please log in to download
the printable version of this worksheet.

80 Si: \\}

Write the prime factorization for 12.

=
12 = X X
)\ -
Find the difference.
e’
L~

80ft4in.-UH5ft 7 in. =

ft in.
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NomMme: 000 ) i

—(Maih BUZZ) “““ -

Insert parentheses to make each | Graph the data on the coordinate grid.
statement true.
Height of Sunflower Plant
36-12=+6=4 Weeks 1 2 3 4 5
Height (in.) 0 2 5 7 10
36 -12 +6 =34
y
A
Divide. 10
—~ 8
£
=60.3+9 Z 6
L
o 4
(@

Preview

Please log in to download
the printable version of this worksheet.

What does the ordered pair (4, 7) tell you about the
week and height of the plant.

Multiply.

65.9x10' = 80.41 x 10' =
65.9x10% = 80.41 x 10° =
65.9x10° = 80.41 x 10° =
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Name: .
—(Maih Buzz) """" g

Compare using the words "is greater than", "is less than", Classify the quadrilateral by its angles.
or'is equal to".

70°,110°,70°, 110°

45 x % 45
rectangle
45 X % 45 parallelogram
8 45 square
45 X 10

Find the sum.

Preview

Please log in to download
the printable version of this worksheet.

2. Exponents

3. Multiplication or Division

4. Addition or Subtraction

(82-28)+9x6=

7xXx15+60+ 4=
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Partition the shape into Prism A and Prism B. Evaluate each expression for x = 8
Then find the volume of the combined andy = 24.
rectangular prisms.

(12x -3y) + 6 =

6 mm
3 mm

15 mm 16O+(L|x+2y)=

20 mm

12 mm

Preview

Please log in to download
the printable version of this worksheet.

Prism B: X X =
Volume = cubic mm

Divide.

54.7 +10' = 36.98+10' =
54.7 +10% = 36.98 + 10% =
54.7 +10° = 36.98 +10° =
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Nome: = Y
{(Math Buzz)
Divide. Rewrite the exponent using repeated multiplication and solve.

25

0.4]7.6

Rewrite the expression using exponents and solve.

Uxyxy

Complete the table and agraph the eguation.

Preview

Please log in to download
the printable version of this worksheet.

O = N W E o1 o~ ~

> X
01 2345 67 8 9101112

Find the difference.

29 Ibs 3 0z.- 14 1lbs 6 oz. = Ibs OZ.
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(Math Buzz )INRIES

= (131-135 )
Multiply. Fill in the missing numbers to complete | Write the prime factorization for 12. Find the difference.
each sentence. . .
35 1 9.06  is 10times as 3 9 9 3y 9
L much as 0.906. | 12 = x X ft in
517.76 1
Find the product of 9 and 2.59.
23.31
Insert parentheses to make each Divide. 4 . Multiply.
statement frue. 2 : ]
67 =603+9 Bl 65.9x10' = 659
(36-12)+6 =1 — | e : .
. . 65.9x10° = 6,590
Find the quotient of 5.46 Write the ordered pairs for each point. s
divided by 7. (1,0), (2,2), (3,5), (4,7), (5.10) 65.9x10° = 65,900
36-(]2*6)=3"|' 0.78 What does the ordered pair (4, 7) tell
[ . — a oes the oraere: air \+, el
you about the week onghleight of the plant. 80.41 x 101 = J".‘l—
23.86 It tells the plant's height was 7 inches 80.41 x 102 = 8 U1

Preview

Please log in to download
the printable version of this worksheet.

Partition the shape into Prism A and Evaluate each expression for x = 8 Multiply. Divide.
Prism B. Then find the volume of the andy =24,

combined rectangular prisms. Y 547+10'=__ 547
1
(12x-3y)+ 6= 4 3.5 54.7 +10% = 547
e || ® | (96-72)+ 6 x 8.3 547+10°=_ 0547
£ 244624 ~Tos
T 36.98+10' = 3.698
pismA: 12 x 3 x 5 = 180 160+(I-Ix+2y)= 2 + 280 0 )
pismB: _ 20 x_ 3 x_ 6 = 360 160 + (32 + U48) 29.05 36.98+10" = .3698
Volume=___ 540  cubicmm 160 +80=2 36.98+10° = .03698
Answers may vary.
Divide. Rewrite the exponent using repeated Complete the table and graph the Find the difference.
multiplication and solve. equation.
19 28 y=5+x 29 Ibs 3 oz. - 14 Ibs 6 oz. =
0.4]7.6 ::
-4 2x2x2x2x2=32 XY | ™ bs__ 13 oz
36 3| 8|
- 36 Rewrite the expression using exponents :
—0 and solve. 0 5 :
4xyxy 6 | 11l
Y= 64 4|9

Super Teacher Worksheets - www.superteacherworksheets.com



